Consolidation work 32 Second Level ***

1.  Add 6.3, 2.71 and 15.4

2.  1.23 x 1000

3.  4494/1000

4.  20% of 2000

5.  3/8 of £32.72

6.  Convert 28% into a fraction and a decimal. 

7.  75m = ____ cm?

8.  3 out of 9 members of a club are women. If there are 72 people in the club, how many are women and how many are men? 

9.  Simplify 90/450

10.  What is the difference between £7.40 and £3.99?

11.  Round 5243.7668 to the nearest hundred. 

12.  It was minus 13 degrees and the temperature increased by 7 degrees. What temperature did it end up? 

13.  3n + 14 = 35 

14.  Calculate the area of a rectangle with: l = 6.6m and b = 5m. 

15.  What is the square root of 36? 

16.  Draw a straight line measuring 3.8cm. Then convert to mm. 

17.  If a radius of a circle measures 4.5cm, what would the diameter equal? 

18.  A swimming pool is 50m long. How many lengths to swim 400m. 

19.  Order these numbers, starting with the largest: 65%, 56/100, 3/4, 70%
20.  4444 + 3333 
